The Inverse Square Law V





Now, rather than having the Intensity of the light diminishing, lets look at two examples of the light becoming brighter than the beginning point.  At what Distance would the light be twice as bright as at 10 feet?  Or, at what distance would the light be exactly 1/stop brighter?  Find the inverse of 2, which is ½, or .50.  Find the square root of .50, and that is 0.7.   0.7D is 7 feet.

At what Distance would the light be four times as bright as at 10 feet?  Or, at what distance would the light be exactly 2/stops brighter?  Find the inverse of 4, which is ¼, or .25.  Find the square root of .25, and that is 0.5.  0.5D is 5 feet.

Notice one other thing.  Doubling the original Distance quarters the light Intensity.  Halving the original Distance quadruples the light Intensity.

       





2D





1D





1I





¼ I





½ x ½                





 2I                   





? D





4 I





? D








